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QUESTION 1

Given the code fragment:

Random rl = new Random (10) ;
Random r2 = new Random({l1d); // line nl
if (rl.nextInt{) =— r2.nextInt()) {

System.out.println (“Jack"”) ;

System.out.println (“Queen®”) ;

What is the result?

A. A compilation error occurs at line nl.

B. Jack

C. The program prints either Jack or Queen.
D. Queen

Correct Answer: A

Result
CPU Time: sec(s), Memory: kilobyte(s)

/Test.java:Z1: error: "else’ without "if’
} else {

M

1 error

QUESTION 2

Given the code:
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public class Calc {
// line nl

reLlburn 4 + b;

}

public static void main(S8tring[] args) {
Calc okj = new Calc():;
int ¢ = obj.sum(10, 20);

System.out.printlno{™sum is ™ |

ol M

}
Which code fragment, when inserted at line n1, enables the code to print sum is 30?
A. int sum(int a, b) {
B. int sum(int a, int b) {
C. int sum(int, int) {
D. int sum(int[] a, b) {

Correct Answer: D

QUESTION 3

Given the code fragment:

String digits = “0123456789";
System.out.println(
digits.substring|
digits.indexOf (“4”), digits.index0f (™8")).concat (“83")):;

What is the result?
A. 456789

B. 4567889

C. 45678

D. 3456789

Correct Answer: A

QUESTION 4
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Given the code fragment:

stringl] codes = {“ga%, “JIPY, “US"; “CA", “OR"};
int count = 0;
for {(String < : codes) {
if (c.equals(™CA")) {
continue;
} oelse |
countt+;

}

System.out.println(count) ;

What is the result?

A.3

B. A compilation error occurs.
C.2

D.0

Correct Answer: A
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13 - public class App {

14~ public static veid main (String[] args) {
15 String[] codes = {"CA", "JP", "US", "CA", "UK"};
16 int count = @;

17~ for (S5tring c : codes) {

18 ~ if (c.equals{"CA")) {

19 continue;

20 - } else {

Z1 count++;

22 1

£3 }

24 System.out.printlnCcount};

Z5 ¥

il &

27 }

JDK 11.0.4 ~

CommandLine Arguments

Result
CPU Time: 0.17 sec(s), Memary: 30712 kilobyte(s)

QUESTION 5
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1L
14 - public class Test {
15+ public static veid main (5tring[] args) {

16 lnt volue = 1@;

17 int a = ++value;

18 int b = value;

19 int ¢ = value++;

A iflfa<=hb & a<=c¢c) {
£l if (b <= &) {

22 a = ++b;

23 - } else {

24 a = ++C;

25 1

26 }

27 System.out.println(a);
28 1

29 }

DK 11.0.4 v

CommandLine Arguments

Result
CPU Time: 0.16 sec(s), Memory: 30296 kilobyte(s)

Given the code fragment:

String inputFromConscle = ™ betaTEST ™;

String cleanedIngut;

cleansdInput = inputFromConscole.toUpperCase () ;
cleanaedInput = cleanedInput.trim();
System.ocut.println(™[™ + cleanedInput + "“]1%);

What is the result?
A. [ BETATEST ]
B. [betaTest]

C. [ betaTest]
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D. [BETATEST]

Correct Answer: D

A=
14 - public class Test {
15~ public static void main (5tring[] args) {

16 5tring inputFromConsole — " betaTEST ";

1= S5tring cleanedInput;

18 cleanedInput = inputFromConsole.tolpperCase();
19 cleanedInput = cleanedInput.trim(};

28 System.out.println("'[" + cleanedInput + "1");
£1 }

22}

JOK 1.0.4 b

CommandLine Arguments

Result
CPU Time: 0.19 sec(e), Memory: 322240 kilebyta(s)
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